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Question Id : 68634013264 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



Beijing: As China tries to slow its demographic decline . women like Chen Luojin could be part of the
solution. The divorced 33-years-old lives in Chengdu , capital of the southwestern Sichuan province, which
legalized registration of children by unmarried women in february . something China is considering
implementing nationwide to address record low birth rates .

The changes mean unmarried woman can take paid maternity leave and receive child subsidies previously
only available to married couples . Crucially .Chen could access invitro fertility (IVF) treatment legally in a
private clinic . She is now 10 weeks pregnant."Becoming a single parent is not for everyone but T am happy
with the decision ."said Chen, who works in logistics ."Equally. getting married or not is for each individual to
decide . We have liberalised the policies here and I know a lot of single women are doing IVFE."

Concerned about China's first population drop in six decades and its rapid ageing . the government's political
advisers proposed in March that single and unmarried women should have access to egg freezing and IVF
treatment .But leaders haven't commented publicly on the recommendations.

Liberalising IVF nationwide could unleash more demand for fertility treatment in what is already the world's
biggest market .straining limited fertility services . Some investors in the industry see an opportunity to expand

" If China changes their policy to allow single women to have children .this can result in an increase of IVF
demand ,"said Yve Lyppens . director of business development for Asia Pacific at INVO Bioscience ,which is
awaiting regulatory approval to launch its IVF technology in China after signing a distribution agreement with
Guangzhou-based Onesky Holdings last year .

Shanghai and the southern Guangdong provinee have also permitted unmarried women to register their
children but IVF services for single women remain banned

Sub questions

Question Number : 1 Question Id : 68634013265 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Leberalising IVF means : -

1. Popularising IVF treatment.

[ 5]

. Imposing fresh restrictions on IVF treatment .
3. Removing stingent conditions and allowing access to IVF treament .

4. People who availed IVF treatment to be set free from jail.

Options :

68634052401. 1
68634052402. 2
68634052403. 3
68634052404. 4

Question Number : 2 Question Id : 68634013266 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If IVF treatment is legalised as per the passage who would get paid maternity leave and child subsidies

1. Married and vnmarried women

| ]

. Only unmarried women

L]

. Only married women

4. Single women who became single parent through IVF treatment

Options :

68634052405. 1
68634052406. 2
68634052407. 3
68634052408. 4

Question Number : 3 Question Id : 68634013267 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The correet statement given is

1. Chengdu is the capital of sichuan province.

[ §)

. China has age old policies to allow single woman to have children

L]

. China is suffering from demographic decline.

4. Chen works in logics company

Options :

686340524009. 1
68634052410. 2
68634052411. 3
68634052412. 4

Question Number : 4 Question Id : 68634013268 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Antonym of the word liberal is :-

1. berserk

| )

. bertha
3. bento
4. bigot

Options :

68634052413. 1
68634052414. 2
68634052415. 3
68634052416. 4



Question Number : 5 Question Id : 68634013269 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to this paragraph who is the Director of Business Development for Asia pacific at INVO bioscience
I'J

—

. Yev Lypeens

. Yve Lyppens

| )

L¥¥]

. Yiv Lyappen

=N

. Yve Lyippen

Options :

68634052417. 1
68634052418. 2
68634052419. 3
68634052420. 4

Question Id : 68634013264 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Beijing: As China tries to slow its demographic decline , women like Chen Luojin could be part of the
solution. The divorced 33-years-old lives in Chengdu , capital of the southwestern Sichuan province. which
legalised registration of children by unmarried women in february . something China is considering
implementing nationwide to address record low birth rates .

The changes mean unmarried woman can take paid maternity leave and receive child subsidies previously
only available to married couples . Crucially .Chen could access invitro fertility (IVF) treatment legally in a
private clinic . She 1s now 10 weeks pregnant."Becoming a single parent is not for everyone but I am happy
with the decision ."said Chen, who works in logistics ."Equally. getting married or not is for each individual to
decide . We have liberalised the policies here and I know a lot of single women are doing IVFE."

Concerned about China's first population drop in six decades and its rapid ageing . the government's political
advisers proposed in March that single and unmarried women should have access to egg freezing and IVF
treatment .But leaders haven't commented publicly on the recommendations.

Liberalising IVF nationwide could unleash more demand for fertility treatment in what is already the world's
biggest market .straining limited fertility services . Some investors in the industry see an opportunity to expand

" If China changes their policy to allow single women to have children .this can result in an increase of IVF
demand ,"said Yve Lyppens . director of business development for Asia Pacific at INVO Bioscience ,which is
awaiting regulatory approval to launch its IVF technology in China after signing a distribution agreement with
Guangzhou-based Onesky Holdings last year .

Shanghai and the southern Guangdong provinee have also permitted unmarried women to register their
children but IVF services for single women remain banned

Sub questions

Question Number : 1 Question Id : 68634013265 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Leberalising IVF means : -

1. Popularising IVF treatment.

el

2. Imposing fresh restrictions on IVF treatment .
3. Removing stingent conditions and allowing access to IVF treament .

4. People who availed IVF treatment to be set free from jail.

Options :

68634052401. 1
68634052402. 2
68634052403. 3
68634052404. 4

Question Number : 2 Question Id : 68634013266 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If IVF treatment is legalised as per the passage who would get paid maternity leave and child subsidies

1. Married and vnmarried women

[ §)

. Only unmarried women

L]

. Only married women

4. Single women who became single parent through IVF treatment

Options :

68634052405. 1
68634052406. 2
68634052407. 3
68634052408. 4

Question Number : 3 Question Id : 68634013267 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The correet statement given is

1. Chengdu is the capital of sichuan province.

| §)

. China has age old policies to allow single woman to have children

L]

. China is suffering from demographic decline.

4. Chen works in logics company

Options :

68634052409. 1
68634052410. 2
68634052411. 3
68634052412. 4



Question Number : 4 Question Id : 68634013268 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Antonym of the word liberal is :-

1. berserk

B

. bertha
3. bento
4. bigot

Options :

68634052413. 1
68634052414.2
68634052415. 3
68634052416. 4

Question Number : 5 Question Id : 68634013269 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to this paragraph who is the Director of Business Development for Asia pacific at INVO bioscience
I'J

1. Yev Lypeens

. Yve Lyppens

| )

L¥¥]

. Yiv Lyappen

=N

. Yve Lyippen

Options :

68634052417. 1
68634052418. 2
68634052419.3
68634052420. 4

Sub-Section Number : 2
Sub-Section Id : 686340433
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634013270 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correctly spelt word from the given options:

1. TIMORIGENIC

| ]

. TUMORIGENIC

L]

. TOMORGENIC
4. TUMARGENIC

Options :

68634052421. 1
68634052422. 2
68634052423.3
68634052424. 4

Question Number : 6 Question Id : 68634013270 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correctly spelt word from the given options:

1. TIMORIGENIC

| ]

. TUMORIGENIC

L]

. TOMORGENIC
4. TUMARGENIC

Options :

68634052421. 1
68634052422. 2
68634052423. 3
68634052424. 4

Question Number : 7 Question Id : 68634013271 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Transform the assertive sentence to exclamatory -
The falcon skims the air elegantly.

1. Bravo! The falcon is skimming

| 5]

. Wow! The falcon skims
3. The falcon skims elegantly in the air!

4. How elegantly the falcon skims the air!

Options :

68634052425. 1
68634052426. 2
68634052427. 3
68634052428. 4



Question Number : 7 Question Id : 68634013271 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Transform the assertive sentence to exclamatory -

The falcon skims the air elegantly.

1. Bravo! The falcon is skimming

| 5]

. Wow! The falcon skims
3. The falcon skims elegantly in the air!

4. How elegantly the falcon skims the air!

Options :

68634052425. 1
68634052426. 2
68634052427. 3
68634052428. 4

Question Number : 8 Question Id : 68634013272 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Synonym of the word ' TRANSCEND ' is:

1. Lower

| §)

. Climb
3. Cross
4. Energise

Options :

68634052429. 1
68634052430. 2
68634052431. 3
68634052432. 4

Question Number : 8 Question Id : 68634013272 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Synonym of the word ' TRANSCEND ' is:

1. Lower

| ]

. Climb
3. Cross

4. Energise

Options :



68634052429. 1
68634052430. 2
68634052431.3
68634052432. 4

Question Number : 9 Question Id : 68634013273 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

'A fully grown male horse kept for breeding’ is called:

1. Stride

| ]

. Stooge
3. Stable

4. Stallion

Options :

68634052433. 1
68634052434.2
68634052435. 3
68634052436. 4

Question Number : 9 Question Id : 68634013273 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

'A fully grown male horse kept for breeding’ is called:

1. Stride

| ]

. Stooge
3. Stable

4. Stallion

Options :

68634052433. 1
68634052434.2
68634052435. 3
68634052436. 4

Question Number : 10 Question Id : 68634013274 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fill in the blanks with appropriate prepositions.

A high school teacher is to face trail France after setting fire his pupils English exam papers to
protest the state education system.

1. . of. to

| ¥

. in, with. for
3. 1. to. at

4. 1. on, before

Options :

68634052437. 1
68634052438. 2
68634052439. 3
68634052440. 4

Question Number : 10 Question Id : 68634013274 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fill in the blanks with appropriate prepositions.

A high school teacher is to face trail France after setting fire his pupils English exam papers to

protest the state education system.

1. . of. to

| ¥

. in, with. for
3. in. to, at

4. in. on, before

Options :

68634052437. 1
68634052438. 2
68634052439. 3
68634052440. 4

Question Number : 11 Question Id : 68634013275 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The average age of a boy and a girl 1s 30 years. The ratio of their ages is 5:7. Ages of the boy and girl
respectively:

1. 30 years, 25 years

| B

. 25 years, 35 years
3. 25 years, 40 years

4. 30 years , 42 years



Options :

68634052441. 1
68634052442.2
68634052443. 3
68634052444. 4

Question Number : 11 Question Id : 68634013275 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The average age of a boy and a girl 1s 30 years. The ratio of their ages i1s 5:7. Ages of the boy and girl
respectively:

1. 30 years, 25 years

| S

. 25 years, 35 years
3. 25 years, 40 years
4. 30 years , 42 years

Options :

68634052441. 1
68634052442.2
68634052443. 3
68634052444. 4

Question Number : 12 Question Id : 68634013276 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

' . Vi " . | . .
An article is marked for ¥ 200. A shopkeeper earns 25% profit even after allowing ]25% discount on it. What

is the cost price of the article (in )7

1. 180

]

. 165
3. 140

4. 112.50

Options :

68634052445. 1
68634052446. 2
68634052447. 3
68634052448. 4

Question Number : 12 Question Id : 68634013276 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



— A . : 1 . .
An article is marked for ¥ 200. A shopkeeper earns 25% profit even after allowing ]25% discount on it. What

is the cost price of the article (in )7

1. 180

]

. 165
3. 140

4. 112.50

Options :

68634052445. 1
68634052446. 2
68634052447.3
68634052448. 4

Question Number : 13 Question Id : 68634013277 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In how many vears will a sum of 2 800 at 10% per annum compounded semi-annually become 2 926.107

1. ] — years

2

years

T

3.2— years

(%]

4. 3 years

Options :

68634052449. 1
68634052450. 2
68634052451. 3
68634052452. 4

Question Number : 13 Question Id : 68634013277 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In how many vears will a sum of 2 800 at 10% per annum compounded semi-annually become 2 926.107

1. ] — years

1

2. | — years

_— b2

3.2— years

(%]

4. 3 years

Options :

68634052449. 1
68634052450. 2
68634052451.3
68634052452. 4

Question Number : 14 Question Id : 68634013278 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Five men working 8 hours per day take 6 days to do a work. How many days will 12 men take to do the same
work if they work for 10 hours per day?

134

Options :

68634052453. 1
68634052454. 2
68634052455. 3
68634052456. 4

Question Number : 14 Question Id : 68634013278 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Five men working 8 hours per day take 6 days to do a work. How many days will 12 men take to do the same
work if they work for 10 hours per day?

134
2

ol
3

3.3

4.2

Options :

68634052453. 1
68634052454. 2
68634052455. 3
68634052456. 4

Question Number : 15 Question Id : 68634013279 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The height of a room iz 40% of semi-perimeter of the floor. Akshay wanted to put wall paper on the walls of

his room. It cost T 5.200 to put 50 cm wide wall paper at the rate of Z40/m leaving an area of 15 m? for doors
and windows . Height of room (in m) 1s:

1.36

| )

3.8
3.4

4.3

Options :

68634052457. 1
68634052458. 2
68634052459. 3
68634052460. 4

Question Number : 15 Question Id : 68634013279 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The height of a room 1s 40% of semi-perimeter of the floor. Akshay wanted to put wall paper on the walls of

his room. It cost Z 5.200 to put 50 cm wide wall paper at the rate of 240/m leaving an area of 15 m* for doors
and windows . Height of room (in m) is:

1.3.6

]

3.8



Options :

68634052457. 1
68634052458. 2
68634052459. 3
68634052460. 4

Question Number : 16 Question Id : 68634013280 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the water - image of the combination

"96FSH52"

Qo E2H?23
.69 EZ2H?2¢
-0QLE2HZ23
69E2HC?

Options :

68634052461. 1
68634052462. 2
68634052463. 3
68634052464. 4

[

J

%)

e

Question Number : 16 Question Id : 68634013280 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the water - image of the combination

"96FSH52"
Lo E2H?23
.69 EZ2H?2¢S
-0QLE2HZ23
69E2HC?

Options :

68634052461. 1
68634052462. 2
68634052463. 3
68634052464. 4

J

%)

e

Question Number : 17 Question Id : 68634013281 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In the following figure find the number of triangles and squares ?

1. 44 triangles, 10 squares

| §)

.12 triangles, 14 squares
3. 27 triangles . 6 squares

4. 32 triangles . 12 squares

Options :

68634052465. 1
68634052466. 2
68634052467. 3
68634052468. 4

Question Number : 17 Question Id : 68634013281 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the following figure find the number of triangles and squares ?

1. 44 triangles, 10 squares

| E)

.12 triangles, 14 squares

L]

. 27 triangles . 6 squares

4. 32 triangles . 12 squares

Options :

68634052465. 1
68634052466. 2
68634052467. 3
68634052468. 4

Question Number : 18 Question Id : 68634013282 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Select the related number from the given alternatives:
DXH:4x8::M=xQ: ?

1.12x17

[ o)

. 13x17
3. 12x16

4. 14x18

Options :

68634052469. 1
68634052470. 2
68634052471.3
68634052472. 4

Question Number : 18 Question Id : 68634013282 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Select the related number from the given alternatives:
DXH :4x8:: MxQ: ?

1.12x17

| ]

. 13x17
3.12x16

4. 14x18

Options :

68634052469. 1
68634052470. 2
68634052471. 3
68634052472. 4

Question Number : 19 Question Id : 68634013283 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

As per the given series 9, 15, 23, 33, 45, 59 observe the series 16, (A). (B). (C). (D). (E) and by establishing
the same relation find what will come in place of (D) ?

1.46

| )

. 60

L¥¥]

.34
4. 64

Options :
68634052473. 1
68634052474. 2



68634052475. 3
68634052476. 4

Question Number : 19 Question Id : 68634013283 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

As per the given series 9, 15, 23, 33, 45, 59 observe the series 16, (A). (B). (C), (D). (E) and by establishing
the same relation find what will come in place of (D) ?

1. 46

2

. 60
3. 34

4. 64

Options :

68634052473. 1
68634052474. 2
68634052475. 3
68634052476. 4

Question Number : 20 Question Id : 68634013284 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following represents the relationship among factory. machinery and product:

[ )

O

L)

Options :

68634052477. 1
68634052478. 2
68634052479. 3
68634052480. 4



Question Number : 20 Question Id : 68634013284 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following represents the relationship among factory. machinery and product:

[ ]

O

L]

Options :

686340524717. 1
68634052478. 2
68634052479. 3
68634052480. 4

Question Number : 21 Question Id : 68634013285 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The statements which are true about Governor of a state:

A. He is appointed by the President for five years.

B. He should be above 45 years of age and should be an Indian citizen .

C. Executive power of the state is vested in him.

D. Chief minister and vice Chancellor of state university are appointed by Governor of a state.
1. A, Donly
2. A B and D only
3. A, Cand D only

4. A B and C only

Options :



68634052481. 1
68634052482. 2
68634052483.3
68634052484. 4

Question Number : 21 Question Id : 68634013285 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The statements which are true about Governor of a state:

A He is appointed by the President for five years.

B. He should be above 45 years of age and should be an Indian citizen .

C. Executive power of the state is vested in him.

D. Chief minister and vice Chancellor of state university are appointed by Governor of a state.
1. A, Donly
2. A B and D only
3. A, Cand D only

4. A B and C only

Options :

68634052481. 1
68634052482. 2
68634052483. 3
68634052484. 4

Question Number : 22 Question Id : 68634013286 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Out of the following . which is the highest Indian Literacy award:

1. Inanpith Award

| §)

. Sahitya Academi Award

L]

. Yuva Puraskar
4. Booker prize

Options :

68634052485. 1
68634052486. 2
68634052487. 3
68634052488. 4

Question Number : 22 Question Id : 68634013286 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Out of the following . which is the highest Indian Literacy award:

1. Inanpith Award

d

2. Sahitya Academi Award

L]

. Yuva Puraskar
4. Booker prize

Options :

68634052485. 1
68634052486. 2
68634052487. 3
68634052488. 4

Question Number : 23 Question Id : 68634013287 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I Folk Dance LIST II State
A |Chhau dance 1. Maharashtra
B. [Lavami II. |Bihar
C. [Kuchipudi I1I. JAndhra Pradesh
D. |Bidesiva IV. Jharkhand

Choose the correct answer from the options given below:

1. A-L. B-II. C-I11. D-IV

[ ]

AL B-IV. C-I1. D-ITI
3. A-IV. B-1. C-IIIL. D-II

4. A-IV. B-I1I, C-I, D-II

Options :

68634052489. 1
68634052490. 2
68634052491. 3
68634052492. 4

Question Number : 23 Question Id : 68634013287 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LIST I Folk Dance LIST II State
A |Chhau dance I. Maharashtra
B [Lavami II. [Bihar
C. [Kuchipudi I1I. |JAndhra Pradesh
D. |Bidesiva IV. Pharkhand

Choose the correct answer from the options given below:
1. A-I. B-II. C-I11. D-IV
2. AL B-IV. C-II. D-III
3. A-IV. B-1. C-III. D-II
4. A-IV. B-III. C-I. D-II

Options :

68634052489. 1
68634052490. 2
68634052491. 3
68634052492. 4

Question Number : 24 Question Id : 68634013288 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Recently launched ' Bharat - NCAP' is related to:
1. Crash safety performance of cars
2. Emission test protocols
3. Pollution control norms

4. Green fuel production

Options :

68634052493. 1
68634052494. 2
68634052495. 3
68634052496. 4

Question Number : 24 Question Id : 68634013288 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Recently launched ' Bharat - NCAP' is related to:

1. Crash safety performance of cars

| S

. Emission test protocols
3. Pollution control norms

4. Green fuel production

Options :

68634052493. 1
68634052494. 2
68634052495. 3
68634052496. 4

Question Number : 25 Question Id : 68634013289 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who 15 the first Indian to be Miss World ?
1. Aighwarya Rai
2. Reeta Faria
3. Diya Mirza

4, Lara Dutta

Options :

68634052497. 1
68634052498. 2
68634052499. 3
68634052500. 4

Question Number : 25 Question Id : 68634013289 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who 15 the first Indian to be Miss World ?
1. Aighwarya Rai
2. Reeta Faria
3. Diya Mirza

4, Lara Dutta

Options :

68634052497. 1
68634052498. 2
68634052499. 3
68634052500. 4



Part B: History of Art

Section Id : 686340264
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 686340434
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634013290 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What was the important finding at Kalibangan ?

1. Ploughed field

| B

. Artificial dock
3. Great Granary
4. Pashupati seal

Options :

68634052501. 1
68634052502. 2
68634052503. 3
68634052504. 4

Question Number : 26 Question Id : 68634013290 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FIeitaT ¥ & d Aew@yul @ie e 82
1. Sl g3 @d
. Pl 57"

| 5]

3. 3~ HUSR

RIEITE:

Options :

68634052501. 1
68634052502. 2
68634052503. 3
68634052504 4

=



Question Number : 27 Question Id : 68634013291 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The rock cut caves of Barabar in Bihar belonged to which sect?
1. Jain
2. Buddhist
3. Ajivika
4. Vaishnav

Options :

68634052505. 1
68634052506. 2
68634052507. 3
68634052508. 4

Question Number : 27 Question Id : 68634013291 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fI8R & SRIER Jd-He BT [y e & 4 2
1. 9H
2. 9%

4. qwrg
Options :
68634052505. 1
68634052506. 2

68634052507. 3
68634052508. 4

Question Number : 28 Question Id : 68634013292 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Sutradhara Mandana famous for his works on architecture and iconography was attached to the court of :
1. Rana Kumbha
2. Bhoja
3. Kumarpala

4. Krishnadevaraya

Options :



68634052509. 1
68634052510. 2
68634052511. 3
68634052512. 4

Question Number : 28 Question Id : 68634013292 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ARl 3R UHTAETT IR D1 & [0 0TS GaUR 584 2 I9-63aR 4 "afid U-
1. IO FHT
R
 FARIA
4. PUEHIG

Options :

68634052509. 1
68634052510. 2
68634052511. 3
68634052512. 4

[ o)

%)

Question Number : 29 Question Id : 68634013293 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Kalyanasundara Image is a representation of:

1. Vishnu Lakshmi

[ ]

. Shiva-Parvati
3. Brahma-Sarawati
4. Kartikeya - Kaumari

Options :

68634052513. 1
68634052514.2
68634052515. 3
68634052516. 4

Question Number : 29 Question Id : 68634013293 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



P Yax [ Wl g

1. fasup-cigHt
 FRra-rddt

. ST

4. BIfdHY - HAR

Options :

68634052513. 1
68634052514.2
68634052515. 3
68634052516. 4

| 5]

L 5]

Question Number : 30 Question Id : 68634013294 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
That Gautama Buddha and Tirthankara Mahavira were contemporaries is known from :
1. Acharanga Sutra
2. Lalitvistara
3. Kalpasutra
4. Vinayapitak
Options :
68634052517. 1
68634052518. 2

68634052519.3
68634052520. 4

Question Number : 30 Question Id : 68634013294 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
a0 g5 SR didiex AeaR Jaamis 4 59 w91 4 91d 6/l 6--
1. A A
RIRGITESIY
. Py
4. foraftae

[ o)

L %)

Options :

68634052517. 1
68634052518. 2
68634052519. 3



68634052520. 4

Question Number : 31 Question Id : 68634013295 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

To which tirthankara is the Luna Vasahi on Mt. Abu Dedicated ?

1. Rishabhnath

b2

. Parshavanath
3. Neminath
4, Mahavir

Options :

68634052521. 1
68634052522.2
68634052523. 3
68634052524. 4

Question Number : 31 Question Id : 68634013295 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ATSE 311 R T et vy ctefery 2 Tl & -
1 BYEHAY

ATy
HEEY

4. HETAR

Options :

68634052521. 1
68634052522. 2
68634052523.3
68634052524. 4

[ o)

%)

Question Number : 32 Question Id : 68634013296 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Who wrote ‘Pahari Masters™?

1. M. S. Randhawa

[ ]

. V. C. Olry
3. W. G. Archer

4. B. N. Goswamy



Options :

68634052525 1
68634052526. 2
68634052527. 3
68634052528. 4

Question Number : 32 Question Id : 68634013296 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TSl TRe farem fordt 2
1. UH. U9, 3ymal
2. 9141 3figd
3. 5oeg, il 3R
4. &1, T, TG

Options :

68634052525. 1
68634052526. 2
68634052527. 3
68634052528. 4

Question Number : 33 Question Id : 68634013297 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who is the author of the book ‘Development of Hindu Iconography’?
1. T. A Gopinath Rao
2. I. N. Banerjea
3. M. K. Dhavalikar

4, Pramod Chandra

Options :

68634052529. 1
68634052530. 2
68634052531. 3
68634052532. 4

Question Number : 33 Question Id : 68634013297 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



SAAUHe 3B g HRBHIG! 911G KD & aEd B 6 2
1. 21 . gAY g
2. O, T, &t
3. UH. &, Ydlade
4. UHIg o5

Options :

68634052529. 1
68634052530. 2
68634052531.3
68634052532. 4

Question Number : 34 Question Id : 68634013298 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which is the earlist surviving square shaped. single-domed mausoleum in Bengal ?
1. Eklakhi mosque
2. Adina mosque
3. Qutub Shahi mosque

4. Katra mosque

Options :

68634052533. 1
68634052534. 2
68634052535. 3
68634052536. 4

Question Number : 34 Question Id : 68634013298 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T B URMED FNHR dIoH] SR U T4 dlell GaY 19 91 g 2

1. Thad! Hieeg

. e AfES

. Pqd el TG
4. e OiEsg

Options :

68634052533. 1

68634052534. 2
68634052535. 3

[ ]

LS ]



68634052536. 4

Question Number : 35 Question Id : 68634013299 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Aphrodite of Milo is presently located at the :

1. Utfizi Gallery

[ ]

. Louvre Museum
3. National Gallery of Art
4. The Metropolitan Museum of Art
Options :
68634052537. 1
68634052538. 2

68634052539.3
68634052540. 4

Question Number : 35 Question Id : 68634013299 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1. SHp TSI e
2. ¢ 9URIad
3. AR e T 3

4. 31 BgiTere wyforay Si® oid

Options :

68634052537. 1
68634052538. 2
68634052539.3
68634052540. 4

Question Number : 36 Question Id : 68634013300 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who is a contemporary Kalighat painting artist ?

1. Kalyan Joshi
2. Kalam Patua
3. Sita Devi
4. Shiva Dayal

Options :

68634052541. 1

68634052542. 2

68634052543.3
68634052544. 4

Question Number : 36 Question Id : 68634013300 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g8 O $F dad | dIaidie Ul & REPR 82

1. HeTuy Sl

[ ]

BT U
3. Hiargat

4. f9ra gard

Options :

68634052541. 1
68634052542. 2
68634052543. 3
68634052544. 4

Question Number : 37 Question Id : 68634013301 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who is the ‘apasmara purush’ related to in imagery ?

1. Nataraj
2. Anantshayi Vishnu
3. Yamaraj
4. Bahubali

Options :

68634052545. 1

68634052546. 2

68634052547.3
68634052548. 4



Question Number : 37 Question Id : 68634013301 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
foperds RN < 3UHIR U3 9313 2
1. TR
=TTt fawg

 UHRS

4. STgsdl

Options :

68634052545. 1
68634052546. 2
68634052547. 3
68634052548. 4

[ B

L 5]

Question Number : 38 Question Id : 68634013302 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is not a characteristic of the Sarnath sculptures from Gupta period ?

1. Detailed folds of drapery

| S

. Refinement of form
3. Sense of movement
4. Slender physiognomy

Options :

68634052549. 1

68634052550. 2

68634052551. 3
68634052552. 4

Question Number : 38 Question Id : 68634013302 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
eTfaiad O § a1 el SRATY Tfdddl & faLivd gl § 2
fegade st gml

=T H e

—_

[ )

3. Tfd &1 UG
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Options :

68634052549. 1
68634052550. 2
68634052551. 3
68634052552 4

Question Number : 39 Question Id : 68634013303 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

An important sculpture in the Lakshmana Temple of Khajuraho is :

1. Anantshayi Vishnu

[ R]

. Kalyansundarmurti
3, Vishou Chaturmutri
4, Ram with Lakshmana and Sita
Options :
68634052553. 1
68634052554. 2

68634052555.3
68634052556. 4

Question Number : 39 Question Id : 68634013303 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HRIE! 9 &0 B P U Jeayul gfd S I g 2
1. a4t famy
BRI i

fowy =gHfd
. derur ug diar afga vy

[ ]
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Options :

68634052553. 1
68634052554. 2
68634052555. 3
68634052556. 4

Question Number : 40 Question Id : 68634013304 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The inscriptions at the Naneghat and Nashik caves were commissioned during the rule of which dynasty ?

1. Shunga
2. Satvahana
3. Mauryan
4. Gupta

Options :

68634052557. 1

68634052558. 2

68634052559. 3
68634052560. 4

Question Number : 40 Question Id : 68634013304 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

THETE SR A1 TH1ef & fRameg iy Isae & U & R § e 1 2 2

13T
. TeaTe
A

4.7

Options :

68634052557. 1
68634052558. 2
68634052559.3
68634052560. 4

| ]

LS ]

Question Number : 41 Question Id : 68634013305 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Who wrote Brihatsambhita ?

1. Panini

[ ]

. Varahamihira
3. Aryabhatta
4. Acharya Bhuvandev

Options :

68634052561. 1
68634052562. 2
68634052563. 3



68634052564. 4

Question Number : 41 Question Id : 68634013305 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

geciiedr e et 2
1. 9IforT
2. TRHRR
3. 3TdYE
4. A Yada

Options :

68634052561. 1
68634052562. 2
68634052563. 3
68634052564. 4

Question Number : 42 Question Id : 68634013306 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

‘Mother Teresa’ 1s an artwork by -

1. M. F. Hussin

| )

. Rabindranth Tagore
3.F.N. Souza

4. 5. H. Raza

Options :

68634052565. 1
68634052566. 2
68634052567. 3
68634052568. 4

Question Number : 42 Question Id : 68634013306 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e R [gd! Fia g 2

1. UH. U, g8

2. MY AR
3. U, U, &l
4, TF. TF. T
Options :
68634052565. 1
68634052566. 2

68634052567. 3
68634052568. 4

Question Number : 43 Question Id : 68634013307 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Bhittargaon terracotta temple belongs to which period ?
1. Mauryan Period
2. Gupta Period
3. Pala Period
4. Mughal Period
Options :
68634052569. 1
68634052570. 2

68634052571. 3
68634052572. 4

Question Number : 43 Question Id : 68634013307 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
iqwita gel &1 HfeR fpq P 1 8 2
1. ArdeTd
2. AT
AP INEAN]
4. QST
Options :
68634052569. 1

68634052570. 2
68634052571. 3



68634052572. 4

Question Number : 44 Question Id : 68634013308 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Who is the artist that painted the painting titled “Allgory of Artists Studio.”
1. Goya
2. Courbet
3. Daumier
4. Cezanne
Options :
68634052573. 1
68634052574. 2

68634052575. 3
68634052576. 4

Question Number : 44 Question Id : 68634013308 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR 3ii® snfcwe Resar e el f&w REeR gRI a1s 715 o7

1. 7T

294
3. IO
4. IS

Options :

68634052573. 1
68634052574.2
68634052575. 3
68634052576. 4

Question Number : 45 Question Id : 68634013309 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Who built the Statue of Zeus at Olympia ?

1. Praxiteles

| ]

. Phidias

L]

. Polykleitos

4. Lysippos



Options :

68634052577. 1
68634052578.2
68634052579. 3
68634052580. 4

Question Number : 45 Question Id : 68634013309 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
it & <& 3 Sigw i feoee g Ut 2

1. mifeeery
2. fiefeaw
3. gifcraicr
4. fafaoarg

Options :

68634052577. 1

68634052578.2

68634052579. 3
68634052580. 4

Question Number : 46 Question Id : 68634013310 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What is ‘hashiva’ in Mughal Miniature Paintings ?

1. Painting School

2. Paint Brush

LIS

. Calligraphy
4. Border

Options :

68634052581. 1
68634052582.2
68634052583. 3
68634052584. 4

Question Number : 46 Question Id : 68634013310 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T AR 1 <gI¥ar | g g 2
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U § Y
4, ARSI |78
Options :
68634052581. 1
68634052582. 2

68634052583.3
68634052584. 4

| 5]
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Question Number : 47 Question Id : 68634013311 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Where at the Great Stupa at Sanchi the narrative panel of ‘Temptation by Mara’ is found ?

1. Torana
2. Railings
3. Pillars
4. Anda

Options :

68634052585. 1

68634052586. 2

68634052587. 3
68634052588. 4

Question Number : 47 Question Id : 68634013311 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634052585. 1
68634052586. 2
68634052587. 3



68634052588. 4

Question Number : 48 Question Id : 68634013312 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Aparajitapriccha is a work on -
1. Silpasastra
2. Polity
3. Natyashastra
4. Philosophy
Options :
68634052589. 1
68634052590. 2

68634052591.3
68634052592 4

Question Number : 48 Question Id : 68634013312 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HRITSTAY=ST 59 fava wR 3neniRa € -
1. Rregrs
2. eI

3' \
4. q2[EM4

Options :

68634052589. 1
68634052590. 2
68634052591. 3
68634052592. 4

Question Number : 49 Question Id : 68634013313 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In which museum is the famous maryan period sculpture of Diadargan; Yakshi placed ?

1. Baroda Museum

b2

. Indian Museum

3. Patna Museum

4, National Museum



Options :

68634052593. 1
68634052594. 2
68634052595. 3
68634052596. 4

Question Number : 49 Question Id : 68634013313 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
RIS OeTdH dlaRToaet $i gid fbw Susiad 5 82
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Options :

68634052593. 1
68634052594. 2
68634052595. 3
68634052596. 4

Question Number : 50 Question Id : 68634013314 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
This Western Gate of the Agra Fort 1s the grandest of the four gates :

1. Khizri gate
2. Delhi gate
3. Lahore gate
4. Amar Singh gate

Options :

68634052597. 1

68634052598. 2

68634052599. 3
68634052600. 4

Question Number : 50 Question Id : 68634013314 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634052597. 1
68634052598. 2
68634052599. 3
68634052600. 4

Question Number : 51 Question Id : 68634013315 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Wajra is the weapon of which deity ?
1. Indra
2. Brahma
3. Yama
4. Varah
Options :
68634052601. 1
68634052602. 2

68634052603. 3
68634052604. 4

Question Number : 51 Question Id : 68634013315 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
a9 by Sadl & MY g
1.5%

[ )

E
3.4y
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Options :

68634052601. 1

68634052602. 2
68634052603. 3



68634052604. 4

Question Number : 52 Question Id : 68634013316 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who among the following is a known painter of Guler style -

1. Sahibdin
2. Pandit Seu
3. Nihalchand
4. Nainsukh

Options :

68634052605. 1

68634052606. 2

68634052607. 3
68634052608. 4

Question Number : 52 Question Id : 68634013316 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
S8 Y B ek el & FFdR 761 § 2
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Options :

68634052605. 1

68634052606. 2

68634052607. 3
68634052608. 4

[ o)
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Question Number : 53 Question Id : 68634013317 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which cave does not have a sculpture of Nataraj ?

1. Elephanta cave

b2

. Badami caves

3. Ellora caves

4. Ghatotkacha caves



Options :

68634052609. 1
68634052610. 2
68634052611. 3
68634052612. 4

Question Number : 53 Question Id : 68634013317 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FHITHH TR BRI 2
1. Uferher T

AL

Options :

68634052609. 1
68634052610. 2
68634052611. 3
68634052612. 4

Question Number : 54 Question Id : 68634013318 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which ancient university was built by the Maitraka ruler Bhattarka ?

1. Takshashila University
2. Vallabhi University
3. Somapura Mahavihara
4. Sharada Peeth

Options :

68634052613. 1

68634052614. 2

68634052615.3
68634052616. 4

Question Number : 54 Question Id : 68634013318 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634052613. 1
68634052614. 2
68634052615.3
68634052616. 4

Question Number : 55 Question Id : 68634013319 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What type of colour palette Fauvist artists used in their art - works.
1. Analogous colours
2. Monochromatic
3. Complementary colours

4, Cool colours

Options :

68634052617. 1
68634052618. 2
68634052619. 3
68634052620. 4

Question Number : 55 Question Id : 68634013319 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Biiay FRESRI A Y- daeiaal @ g YaR &1 F-Uig ST &1 Sugn fhar

1. AT
2. THauit
3, ARSI
4. Yida &1

Options :

68634052617. 1

68634052618. 2
68634052619. 3




68634052620. 4

Question Number : 56 Question Id : 68634013320 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who among the following Vedic deities has been invoked in the Rigveda ?
1. Hanumana
2. Indra
3. Rama
4. Kalaki

Options :

68634052621. 1
68634052622. 2
68634052623. 3
68634052624. 4

Question Number : 56 Question Id : 68634013320 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafofea o @ fou o Sam w1 Hag | smgH femr man & 2
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Options :

68634052621. 1
68634052622. 2
68634052623. 3
68634052624. 4

Question Number : 57 Question Id : 68634013321 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is also called Flavian Amphitheater ?

1. Colosseum

[

. Pantheon

LIS

. Triumphal arch

4, Basilica



Options :

68634052625. 1
68634052626. 2
68634052627. 3
68634052628. 4

Question Number : 57 Question Id : 68634013321 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frefefEd o 9 fod wifaas srars Wi ped 8 2

1. DIGEaH
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Options :

68634052625. 1

68634052626. 2

68634052627. 3
68634052628. 4

b
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Question Number : 58 Question Id : 68634013322 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Shrinathyji is a recurring figurine in the style of :
1. Bundelkhand
2. Nathdwara
3. Kishangrah
4. Jammu

Options :

68634052629. 1
68634052630. 2
68634052631. 3
68634052632. 4

Question Number : 58 Question Id : 68634013322 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634052629. 1
68634052630. 2
68634052631. 3
68634052632. 4
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Question Number : 59 Question Id : 68634013323 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

To which art movement artist Vassily Kandinsky belongs :-

1. Cubism

| S

. Blue Rider

3. Futurism

4, Constructivism
Options :
68634052633. 1
68634052634. 2

68634052635.3
68634052636. 4

Question Number : 59 Question Id : 68634013323 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[FEPR Rl SiS-a®! [y Par sialer 3 Jalyd a1
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Options :

68634052633. 1
68634052634. 2
68634052635.3



68634052636. 4

Question Number : 60 Question Id : 68634013324 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Where did Heliodorus set the Garuda dhwaja in honour of Vasudeva ?

1. Kaushambi
2. Rajgir
3. Vidisha
4. Ahmedabad

Options :

68634052637. 1

68634052638. 2

68634052639. 3
68634052640. 4

Question Number : 60 Question Id : 68634013324 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

argad & G H TR st sfeaisRy - del @Iidd fdharur 2

1. I
2. ASFIR
3. fafeam
4. 3EHAIEIS

Options :

68634052637. 1

68634052638. 2

68634052639. 3
68634052640. 4

Question Number : 61 Question Id : 68634013325 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Pinaka is the bow of which deity ?

1. Karttikeya

[ B

. Vinayak
3. Vishnu

4, Shiva



Options :

68634052641. 1
68634052642. 2
68634052643. 3
68634052644. 4

Question Number : 61 Question Id : 68634013325 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
o T Sae o1 N & 2
RCAIRER
fome

o
4. T3

Options :

68634052641. 1
68634052642. 2
68634052643.3
68634052644. 4

[ o)
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Question Number : 62 Question Id : 68634013326 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The Jivantswami images represent Mahavira as a

1. Prince

[

. King
3.Lion
4. Sanyasi

Options :

68634052645. 1
68634052646. 2
68634052647. 3
68634052648. 4

Question Number : 62 Question Id : 68634013326 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634052645. 1
68634052646. 2
68634052647. 3
68634052648. 4

| 5]
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Question Number : 63 Question Id : 68634013327 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fatehpur Sikri’s Buland Darwaza is the entrance to which structure

1. Panch Mahal
2. Diwan-i-AAm
3. Jama Masjid
4. Diwan -i-khas

Options :

68634052649. 1

68634052650. 2

68634052651. 3
68634052652. 4

Question Number : 63 Question Id : 68634013327 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634052649. 1

68634052650. 2
68634052651. 3
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68634052652. 4

Question Number : 64 Question Id : 68634013328 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which architectural device in Iltutmish's tomb was used for the first time in India ?
1. Ture arch
2. Merlons
3. Squinch

4. Maqsura screen

Options :

68634052653. 1
68634052654. 2
68634052655. 3
68634052656. 4

Question Number : 64 Question Id : 68634013328 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AR al 1 DI 91 ded YR H UYH IR Soddiig & Hdhay § Uiford g 2
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Options :

68634052653. 1
68634052654. 2
68634052655.3
68634052656. 4
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Question Number : 65 Question Id : 68634013329 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who wrote ‘Santiniketan : The Making of a Contextual Modernism’?
1. Gayatri Sinha
2. R. Siva Kumar
3. Vidya Dehejia
4. Anita Dube

Options :

68634052657. 1
68634052658. 2
68634052659. 3
68634052660. 4

Question Number : 65 Question Id : 68634013329 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Tf<IEa: g Bfe 31T 3 Ficau=ga AlsH-o U Bt =18 2
1. TR gt
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3. faen gfomn
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Options :

68634052657. 1
68634052658. 2
68634052659. 3
68634052660. 4

Question Number : 66 Question Id : 68634013330 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who was the only sculptor -cum-painter member of the Progressive Artist’s Group ?

1. H. K. Gade
2. V. 8. Gaitonde
3.K.H. Ara
4. 8. K. Bakre

Options :

68634052661. 1

68634052662. 2

68634052663. 3
68634052664. 4



Question Number : 66 Question Id : 68634013330 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634052661. 1
68634052662. 2
68634052663. 3
68634052664 4

Question Number : 67 Question Id : 68634013331 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Kalpautra manuscript painting belong to which religion tradition.
1. Buddhist
2. Pashupat
3. Jaina
4. Ajivika
Options :
68634052665. 1
68634052666. 2

68634052667. 3
68634052668. 4

Question Number : 67 Question Id : 68634013331 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634052665. 1
68634052666. 2
68634052667. 3
68634052668. 4

Question Number : 68 Question Id : 68634013332 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which among the following were important sites of sculpture during the reign of Kushana Empire ?

1. Sanchi and Mathura

| ]

. Mathura and Gandhara
3. Sanchi and Bharhut

4, Sanchi and Sarnath

Options :

68634052669. 1
68634052670. 2
68634052671. 3
68634052672. 4

Question Number : 68 Question Id : 68634013332 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634052669. 1
68634052670. 2
68634052671. 3
68634052672. 4

Question Number : 69 Question Id : 68634013333 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Where do we find the sculptural relief of Narsimhadeva I as an archer ?

1. Lingaraj Temple. Bhubaneshwar
2. Rajarani Temple. Bhubaneshwar
3. Kandariya Mahadev, Khajuraho
4. Sun Temple. Konark

Options :

68634052673. 1

68634052674. 2

68634052675.3
68634052676. 4

Question Number : 69 Question Id : 68634013333 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634052673. 1
68634052674. 2
68634052675.3
68634052676. 4

Question Number : 70 Question Id : 68634013334 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The Chunar Ragmala painted in 1561 is one of the earliest stylistic example of :

1. Bundi style

[ ]

. Mewar style

3. Kota style

4. Kishangarh style
Options :
68634052677. 1

68634052678. 2
68634052679. 3



68634052680. 4

Question Number : 70 Question Id : 68634013334 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634052677. 1
68634052678. 2
68634052679. 3
68634052680. 4

Question Number : 71 Question Id : 68634013335 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Who wrote ‘The Transformation of Nature in Art” ?

1. Stella Kramrisch

[ ]

. Diana L. Eyeck
3. M. W. Meister
4. Ananda Coomaraswamy

Options :

68634052681. 1
68634052682. 2
68634052683. 3
68634052684. 4

Question Number : 71 Question Id : 68634013335 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634052681. 1
68634052682. 2
68634052683. 3
68634052684 4

Question Number : 72 Question Id : 68634013336 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

"Luncheon in the Grass" painting is painted by which impressionist artist.

1. Eduard Manet

| ]

. Degas
3. Renoir
4. Seurat

Options :

68634052685. 1
68634052686. 2
68634052687. 3
68634052688. 4

Question Number : 72 Question Id : 68634013336 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634052685. 1

68634052686. 2
68634052687. 3



68634052688. 4

Question Number : 73 Question Id : 68634013337 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Equestrian sculptures started form which period ?
1. Greek
2. Roman
3. Mesopotamia
4. Egyptian
Options :
68634052689. 1
68634052690. 2

68634052691. 3
68634052692. 4

Question Number : 73 Question Id : 68634013337 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634052689. 1

68634052690. 2

68634052691. 3
68634052692. 4

[ ]
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Question Number : 74 Question Id : 68634013338 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Amrita Shergill was influenced by which modern European artist ?

1. Gauguin

[ ]

. Van Gogh
3. Cezanne

4. Seurat



Options :

68634052693. 1
68634052694. 2
68634052695. 3
68634052696. 4

Question Number : 74 Question Id : 68634013338 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634052693. 1
68634052694. 2
68634052695. 3
68634052696. 4

Question Number : 75 Question Id : 68634013339 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Nandlal Bose was deeply mfluenced by which of the following ?

1. Sculptures of Ellora caves
2. Murals of Ajanta caves
3. European academic style
4, Patna Qalam

Options :

68634052697. 1

68634052698. 2

68634052699. 3
68634052700. 4

Question Number : 75 Question Id : 68634013339 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634052697. 1
68634052698. 2
68634052699. 3
68634052700. 4

Question Number : 76 Question Id : 68634013340 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which of the following state is famous for Kantha embroidery ?
1. West Bengal
2. Punjab
3. Maharasthra
4. Gujarat
Options :
68634052701. 1
68634052702. 2

68634052703. 3
68634052704. 4

Question Number : 76 Question Id : 68634013340 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634052701. 1
68634052702. 2
68634052703. 3



68634052704. 4

Question Number : 77 Question Id : 68634013341 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Corinthian orders are a notable example of -
1. Pillars
2. Arch

3. Pediment

4. Freeze

Options :

68634052705. 1
68634052706. 2
68634052707. 3
68634052708. 4

Question Number : 77 Question Id : 68634013341 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634052705. 1
68634052706. 2

68634052707. 3
68634052708. 4

Question Number : 78 Question Id : 68634013342 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Where 1s Atala Masjid located ?

1. Dhar

| ]

. Mandu

L]

. Bijapur

4. Jaunpur



Options :

68634052709. 1
68634052710. 2
68634052711. 3
68634052712. 4

Question Number : 78 Question Id : 68634013342 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634052709. 1
68634052710. 2
68634052711. 3
68634052712. 4

Question Number : 79 Question Id : 68634013343 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Chakreshwari is the yakshi of Tirthankara
1. Rishabhanath
2. Neminath
3. Mahavir
4. Shreyansnath

Options :

68634052713. 1
68634052714.2
68634052715. 3
68634052716. 4

Question Number : 79 Question Id : 68634013343 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634052713. 1

68634052714. 2

68634052715.3
68634052716. 4

Question Number : 80 Question Id : 68634013344 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The architecture from which period is considered to be a “phase of transition” between the fortified tombs and
the terraced gardens of the Mughals ?

1. Lodi dynasty (1451-1526)
2. Tughlaq dynasty (1320-1413)
3. Khalji dynasty (1290-1320)
4. Slave kings (1200-1246)
Options :
68634052717. 1
68634052718. 2

68634052719. 3
68634052720. 4

Question Number : 80 Question Id : 68634013344 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. TIET IRIH (1451-1526)

2. T R (1320-1413)

3. TRgereit = (1290-1320)

4, T[@TH 99 (1200-1246)
Options :

68634052717. 1
68634052718. 2



68634052719. 3
68634052720. 4

Question Number : 81 Question Id : 68634013345 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements : One is labelled as Assertion A and the other is labelled as Reason R :
Assertion A : The deity of the Keshava temple at Belur was named Vijaya Narayana.

Reason R : It was done so to establish strong political ties with Cholas.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A

[ ]

. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A 1s not correct but R is correct

Options :

68634052721. 1
68634052722.2
68634052723. 3
68634052724. 4

Question Number : 81 Question Id : 68634013345 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634052721. 1
68634052722, 2

68634052723. 3
68634052724. 4

Question Number : 82 Question Id : 68634013346 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Give below are two statements : One is labelled as Assertion A and the other is labelled as Reason R :
Assertion A : The Company school was an Indo-European style of painting made in Delhi, Calcutta, Patna ete.
Reason R : The artistic style was a hybrid of Indian miniature painting elements with western techniques.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A

[ ]

. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A 1s not correct but R is correct

Options :

68634052725 1
68634052726. 2
68634052727. 3
68634052728. 4

Question Number : 82 Question Id : 68634013346 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634052725. 1
68634052726. 2

68634052727. 3
68634052728. 4

Question Number : 83 Question Id : 68634013347 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Give below are two statements : One is labelled as Assertion A and the other is labelled as Reason R :
Assertion A : The wheel of Dharma denotes preaching of the sermon.

Reason R : Early Buddhist artisans employed multiple symbols to exemplify the teachings and life of Buddha.
In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A

[ ]

. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A 1s not correct but R is correct
Options :
68634052729. 1
68634052730. 2

68634052731.3
68634052732. 4

Question Number : 83 Question Id : 68634013347 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634052729. 1

68634052730. 2

68634052731. 3
68634052732. 4

Question Number : 84 Question Id : 68634013348 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Give below are two statements : One is labelled as Assertion A and the other is labelled as Reason R :
Assertion A : The architecture of Humayun's tomb was so elaborate that it set a precedent for further Mughal
architecture in the country.

Reason R : It was the first structure to use granite at such a scale.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A

[ ]

. Both A and R are correct but R 1s NOT the correct explanation of A
3. A is correct but R 1s not correct

4. A is not correct but R is correct

Options :

68634052733. 1
68634052734. 2
68634052735.3
68634052736. 4

Question Number : 84 Question Id : 68634013348 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634052733. 1

68634052734. 2

68634052735.3
68634052736. 4
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Question Number : 85 Question Id : 68634013349 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Give below are two statements : One is labelled as Assertion A and the other is labelled as Reason R :
Assertion A : “The Gates of Hell” is a masterpiece of Rodin.

Reason R : “The Gates of Hell” includes major art works like “the thinker™, “the poet” by Rodin.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A

[ ]

. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A 1s not correct but R is correct

Options :

68634052737. 1
68634052738.2
68634052739. 3
68634052740. 4

Question Number : 85 Question Id : 68634013349 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634052737. 1
68634052738. 2
68634052739. 3
68634052740. 4

[ S]

Question Number : 86 Question Id : 68634013350 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Give below are two statements : One is labelled as Assertion A and the other is labelled as Reason R :
Assertion A : The Trajan’s column was a religious symbol.

Reason R : The column itself depicts the Roman emperor’s triumphal vietory in a war with Dacians,

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A

[ ]

. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A 1s not correct but R is correct

Options :

68634052741. 1
68634052742.2
68634052743. 3
68634052744. 4

Question Number : 86 Question Id : 68634013350 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 1 S AU T §: U SATUS U (Assertion A) & F0 T [RIT § T GIR1 3HD BRI (Reason R) B
0 H:
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1. A SRR G TG § AR R. A B Jol AT §
2. A SR REHI 981 8. U] R. A &I UE| ARH T8l &
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4 ATSI TR S R RUEI B
Options :
68634052741. 1
68634052742. 2

68634052743.3
68634052744. 4

Question Number : 87 Question Id : 68634013351 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Give below are two statements : One is labelled as Assertion A and the other is labelled as Reason R :
Assertion A : Abanindranatha Tagore developed the traditional wash technique brought to India by the
Chinese.

Reason R : Amongst his many visions was the idea to create a pan-asian model of art.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A

[ ]

. Both A and R are correct but R 1s NOT the correct explanation of A
3. A is correct but R 1s not correct

4. A is not correct but R is correct

Options :

68634052745. 1
68634052746. 2
68634052747.3
68634052748. 4

Question Number : 87 Question Id : 68634013351 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 3 Y= U T §: U ATUS YT (Assertion A) P =4 1 [ARId § dl g8 THP PRI (Reason R) &
LA REE
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PRUTR : 30 (A1 Ie2dl 3 I TH U UH-URATE Ha BT HHA ST |

SIRIE $YF & Hdld 1. = 3 T faepedi 1§ ¥ Tad Sugad SR &1 999 Bl |

1. A SRR T8I § 3R R, A T ol ARAT§
2. A SR R G U6 8. =] R. A B! Ug! AR 6l &
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Options :
68634052745. 1
68634052746 2

68634052747. 3
68634052748. 4

Question Number : 88 Question Id : 68634013352 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Give below are two statements :

Statement I : The tomb of Khan-i-Jahan Tilangani had a crude eight - sided plan from which the later distinct
octagonal plan of Indo-Islamic architecture was developed.

Statement IT : The tomb of Tilangani is from Tuglaq period.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are correct
2. Both Statement I and Statement I are incorrect
3. Statement I is correct but Statement II 1s incorrect
4. Statement I 15 incorrect but Statement II is correct
Options :
68634052749. 1
68634052750. 2

68634052751. 3
68634052752. 4

Question Number : 88 Question Id : 68634013352 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RSPy RumE:
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1. HYF 1R 1S Tet g
2. HYF I 3R I SHI Tad ©
3. PYF 1 el . A HYF 11 7Ted &
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Options :

68634052749. 1
68634052750. 2
68634052751. 3
68634052752. 4

Question Number : 89 Question Id : 68634013353 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Give below are two statements :

Statement I : The Vijaynagar period sculptures are characteristic of large and lively monolithic carvings.
Statement IT : The reclining Nandi notheast to the Lepakshi temple and the Ugra Narasimha at Vijaynagar are
testimonials to this assertion.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are correct
2. Both Statement I and Statement II are incorrect
3. Statement [ is correct but Statement I 1s incorrect

4. Statement I is incorrect but Statement II is correct

Options :

68634052753. 1
68634052754. 2
68634052755.3
68634052756. 4

Question Number : 89 Question Id : 68634013353 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e Py E:
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3. BYA 1 9el 8. g by 11 7Teid §
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Options :

68634052753. 1
68634052754.2
686340527553
68634052756. 4

Question Number : 90 Question Id : 68634013354 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Give below are two statements :

Statement I : The Chaurpanchasika paintings depict the two characters in full profile for the first time in
Indian Miniature Painting.

Statement IT : A distinct characteristic of the painting style is its bright colour.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are correct
2. Both Statement I and Statement I are incorrect
3. Statement I is correct but Statement II 1s incorrect

4. Statement I 15 incorrect but Statement II is correct

Options :

68634052757. 1
68634052758. 2
68634052759. 3
68634052760. 4

Question Number : 90 Question Id : 68634013354 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634052757. 1
68634052758. 2
68634052759. 3
68634052760. 4

Question Number : 91 Question Id : 68634013355 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Give below are two statements :

Statement I : In Mewar miniature paintings. fine brushes were often made from squirrel hair.

Statement IT : The materials used were cloth and paper.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both Statement I and Statement IT are correct

2

. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect

4, Statement I 15 incorrect but Statement I1 is correct

Options :

68634052761. 1
68634052762. 2
68634052763. 3
68634052764. 4

Question Number : 91 Question Id : 68634013355 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR e Rume:
®YF 1 : Ja1S qYfE & vac 59 fasd $ SIS 4 |
YT 11 : SWATA 3 HH arall Gl 8 $9s] iR S Y |
SWRIed HYA & die . 1 fGU T fdeed] T ¥ 9ad Sugad SR &I 997 Il
1. HYF I3RS T8l
2. HYA1 AR 11 1 Tad §
3. Y1 Hel 8. g Py n e §

4. HYF 1 7T09d o, [ SUT 11 951 ©

Options :

68634052761. 1
68634052762. 2
68634052763. 3
68634052764. 4

Question Number : 92 Question Id : 68634013356 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Give below are two statements :

Statement I : Avalokiteshwara is often depicted in India with multiple eyes to denote his omnipresence.
Statement IT : There is a popular Avalokiteshwara painting in Ajanta Cave No. 1.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both Statement I and Statement IT are correct

| B

. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement I is incorrect

4, Statement I 15 incorrect but Statement I1 is correct

Options :

68634052765. 1
68634052766. 2
68634052767. 3
68634052768. 4

Question Number : 92 Question Id : 68634013356 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR TERrme:

HYT 1 : HTAHARER BT YR H TgIRed 31 aTa &= S ¢ Ford St Yayfa &1 Iehd f1d |
Y I : oI & 1 ST 1 H sfaaiicpd¥ax &1 Uhb uis A g

SWRIed HYA & 3fdle . 1< [GU T fdeed] T ¥ 9ad Sugad SR &I 997 Bl

1. T 1 3R 11 §HI Tgl ©
2. HYA 1 3R 11 &1 Tad §
3. PYA1 eI 8. [ U= 11 7Tad §
4. HYF 1 7T09d o, [ SUT 11 951 ©

Options :

68634052765. 1
68634052766. 2
68634052767. 3
68634052768. 4

Question Number : 93 Question Id : 68634013357 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Give below are two statements :

Statement I : Van Gogh was post Impressionist Artist.

Statement IT : Van Gogh vsed colours to express his inner emotions.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both Statement I and Statement IT are correct

| B

. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement I is incorrect

4, Statement I 15 incorrect but Statement I1 is correct

Options :

68634052769. 1
68634052770. 2
68634052771. 3
68634052772. 4

Question Number : 93 Question Id : 68634013357 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR T Rrme:
HYA 1 : 9 71 U IR UHTaard] [FeR o1
YT I : 3 711 - YT AR FdgArsdl @1 siftyerfe & fo 3 &1 Ui faan
IRIGI BYUF & AP 1, Aid [0 77U fdbed] § 9 98l 3R &1 99 Dilo|
1. BYA I AR 1 ST T §
 HY 1R 11 EFT SR §

3. YT I gd B, Afe YT II 3T &

]

4. BYT I IOI B, AT DY I T ©

Options :

68634052769. 1
68634052770. 2
68634052771. 3
68634052772. 4

Question Number : 94 Question Id : 68634013358 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
A |Harappa I |Dava Ram Sahni
B. Mohenjodaro | II. |S. R Rao
C. [Lothal [II. |[R. D Banerjee
D. [Dholavira IV. ). P Joshi

Choose the correct answer from the options given below:

1.A-I.B-III. C-II, D-IV

| )

AT, B-IV., C-II. D-III

L)

CA-IV L, B-IL. C-1. D-III
4. A-IIT.B-1.C-II, D-IV

Options :

68634052773. 1
68634052774. 2
68634052775.3
68634052776. 4

Question Number : 94 Question Id : 68634013358 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tt 161 I 11§ e S
T 1 T I
A feemm 1 [GaR™ Tl
B. @ETuicel |1 [g9 R.I9
C. [atud I1L. |3 3 &eil
DN BIGIEIE V. [o. Of. e
frafafad foeedl & O A8t S9R &1 994 S -

1.A-I.B-III. C-II, D-IV

[

AT, B-IV. C-II., D-III
3.A-IV,B-II. C-1.D-III
4 AT, B-I.C-II. D-IV

Options :

68634052773. 1
68634052774.2
68634052775. 3
68634052776. 4

Question Number : 95 Question Id : 68634013359 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTIT
[Vidurpandita Jatakal 1. |Cave 17
[Hamsa Jataka II. |Cave 2

Chaddanta Jataka | IIL | Cave 10
Mahajanaka Jataka | IV. [Cave 1

ofo[w[>

Choose the correct answer from the options given below:

1LLA-IIT,B-I.C-IT,.D-1IV

| )

AT BA-III. C-ITL, D-IV

L)

CA-IT. B-L. C-IIIL D-IV
4. A1.B-IV.C-I.D-III

Options :

68634052777. 1
68634052778. 2
68634052779.3
68634052780. 4

Question Number : 95 Question Id : 68634013359 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 1 1 gt 11 3 fBaE Sifen

L e I
fGeufsd oiid®| 1 [T T0.17
ERUEIGES II. [T 0.2
@edoldd |1 fIerdo 10
[AgTeH® JIdd | IV. [{THT H0.1

frafafad foeedl & O A8t S9R &1 994 S -

1LA-III.B-I.C-II.D-1IV

REE

[

AT BA-III. C-IT, D-IV
3.A-IIL B-1. CII. D-IV
4. A-1.B-IV.C-I.,D-III

Options :

68634052777. 1
68634052778.2
68634052779. 3
68634052780. 4

Question Number : 96 Question Id : 68634013360 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
A |Varuna I |Plough
B. [Yama 1. |Chakra
C. |Vishnu I11. |Danda
D. |Balram IV |[Naga paash

Choose the correct answer from the options given below:

1.A-I.B-II.C-III, D-IV

| )

VATV BHIID, C-IT., D-L

L)

AV OB-IILC-IIT . D-1
4. A IV, B-II.C-I.D-III

Options :

68634052781. 1
68634052782. 2
68634052783.3
68634052784. 4

Question Number : 96 Question Id : 68634013360 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 1 1 gt 11 3 fBaE Sifen
T 1 T I
A [geu I [ea
B. |99 I [Hé
C. [igwr Il [g5
D. [@ci™H IV. HHET YT
Fafiiad faeedl & 9 T8 3w &1 9g4 Sifo -

1.A-I.B-II. C-III, D-IV

[

ATV, BHIID, C-IT., D-I
3LAIV.B-II.C-IIT. D-1
4. A-IV ., B-1I. C-I. D-III

Options :

68634052781. 1
68634052782.2
68634052783. 3
68634052784. 4

Question Number : 97 Question Id : 68634013361 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
F.ishabhnath I |Conch
Shrevansanath | II. [Rhinoceros
[Neminath 1. [Serpent
Parshavanath | IV |Ox

ofo[w[>

Choose the correct answer from the options given below:

1.A-I.B-IV.,C-1II.D-III

| )

AL, B-I. C-ITL, D-IV

L)

CA-TLUB-III. C-II, D-IV
4. A IV, B-II.C-I.D-III

Options :

68634052785. 1
68634052786. 2
68634052787.3
68634052788. 4

Question Number : 97 Question Id : 68634013361 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 1 1 gt 11 3 fBaE Sifen
T 1 T I
A [FEYY I BE
B. [smigTy 1. [isT
C. Ry 0. [gg
D. [Ar=ay V. [&d
4 fqu e foseul & ¥ w8l 3% 94U :

1.A-I.B-IV. C-II. D-III

[

VAT, B-I. C-IT, D-IV
3.A-I.B-III.C-II, D-IV
4. A-IV ., B-1I. C-I. D-III

Options :

68634052785. 1
68634052786. 2
68634052787. 3
68634052788. 4

Question Number : 98 Question Id : 68634013362 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
Paul Gauguin | I. |Sun Flower
[Van Gogh 1. |Guernica

Pablo Picasso | III [Vision After the Sermon
[Henry Matisse | IV [Harmony of Red

ofo[w[>

Choose the correct answer from the options given below:

1LA-IIT. B-I.C-II, D-IV

| )

CA-IV . B-IL. C-1., D-IIT

L)

AT B-IV . C-IT. D-1
4. A1.B-II.C-III,D-1IV

Options :

68634052789. 1
68634052790. 2
68634052791.3
68634052792. 4

Question Number : 98 Question Id : 68634013362 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 1P Iy G 11 &7 e Sifse
T 1 T 11

A [0id TE 1. [99 TaR

B.[ga™ il CREER]

C. [oret faem |1 [fawe enes § o5

D. RIHdE | IV. G- 3% 18

1= fou U faaed O T I8! 3R &1 994 Difoft:

1LLAJII.B-I.C-II, D-IV

| B

CA-IV L, B-IL, C-1., D-III
AT, B-IV, C-III. D-1
4 A-I.B-II.C-III.D-1IV

Options :

68634052789. 1
68634052790. 2
68634052791. 3
68634052792. 4

Question Number : 99 Question Id : 68634013363 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
Asit Kumar Haldar | I |Bengal School of Ar
[F.abindranath Tagore] II. |Delhi
[F.am Kumar 11 Marg magazine
Mulk Raj Anand IV |Shantiniketan

ofo[w[>

Choose the correct answer from the options given below:

1LLAIV.B-II.C-I.D-1II

| )

CA-TLB-IV.C-ILLD-1TI

L)

CA-LLB-IV.C-AITL D-1II
4. AIl,B-1.C-III,D-1IV

Options :

68634052793. 1
68634052794. 2
68634052795.3
68634052796. 4

Question Number : 99 Question Id : 68634013363 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tt 161 I 11§ e S

AT 1 T 11
|HEdPAR el 1 [Ed W d T
Rf§=AY &R | 1L [ige=t!

R $AR L1 [ HTsi
_[ge® e e [ 1V [=ii=iEddd

e feu e fgeedl & ¥ |gt SW gL :

1LA-IV.B-II.C-I.D-1II

olo|w|e

[

AT B-IV.C-IITL,D-TI
3.AI.B-IV.C-II.D-1II
4. A-II,B-1.C-III,D-1IV

Options :

68634052793. 1
68634052794. 2
68634052795. 3
68634052796. 4

Question Number : 100 Question Id : 68634013364 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LIST1 LISTII
Devnimori I |Gujarat
Gajendramoksha Penel 1. |Ahichchhatra
Ganga and Yamuna figures| I11. [Dashavatar temple. Deogarh
Colossal Varaha IV. [Eran

ofo[w[>

Choose the correct answer from the options given below:

1LLA-IIT,B-I.C-IT,.D-1IV

| )

CA-TLB-IILL G-I D-IV

L)

CA-IT.B-IL C-IIT. D-IV
4. A1, B-IV.C-II,D-1II

Options :

68634052797. 1
68634052798. 2
68634052799. 3
68634052800. 4

Question Number : 100 Question Id : 68634013364 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A 11 At I 9 e Sifo
A1 T I
A [GadHmERI L [sId
B. [eisdieg taa | 1L [efgwa
C. [fmge srefad] nL [eenaar 9=y
D. [F®Ig T8 IV. [0
2 feu e oo & ¥ wgt W g

1LA-III.B-I.C-II.D-1IV

[

CA-TLB-III., C-ITL. D-IV
JAIII.B-I.CIII.D-1IV
4. A-1.B-IV.C-II,D-1II

Options :

68634052797. 1
68634052798. 2
68634052799. 3
68634052800. 4



